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Answer Sheet: Many or Many of

Which is correct?

Q1l- families have mor e than one car nowadays.
v Many
Many of
Q2 - the people there were disappointed.
I:I Many
v Many of
Q3-__ themwerelate.
I:I Many
v Many of

Q4 - Therewere people without tickets.

v Many
Many of
Q5 - How us havethetimetodoit?
I:I Many
v Many of

Q6 - I'vethought about them times.

v many
many of
Q7 - Yes, uswereangry about it.

D many

v many of
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Q8 - those who werethereliked it.
I:I Many
v Many of
Q9-How times havel told you?
v many
many of

Q10 - Thereweren't the cakesleft at the end of the party.

D many

v many of

Q11 - How you wer e there?

D many

v many of

Q12 - How people wer e there?

v many
many of

Q13- How the peoplethere enjoyed it?

D many

v many of
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